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����0��#(�'�#� 0���$# �� ��% % �'$�%#.< �� ���� 4## ��2��$.-�'.  � 0���$# ;��%�,
8� # %����8� ;��.���% �9� % 2�%#'#0�'�# ��  �2 �(� #. #';�$&2��0�< '���%��'�%�  � ;��%�<
# %����< ;��#2%�� �< %������ 4� � � ���$��� ;���'��%$� � 0���$& %����8� ;��.��� �� ��
n %2�#0�2�0� .�0�< ��%���%! 8�� % ��$#(#� �� �� ��1��� �9� %%��� � % ��''0���� #� ;�,
��0���� �$�'�#( �'�# ';��'� ;� 4� � # ;������'� �� 4� �%�� �$�'�#( �'�# # #''$�����'.
�'���(#%�'�& ��� �0#(�'��8� ��% �%�'#. % 2%#'#0�'�# �� ��#< ;���0����%� S��#0�?�'�%�
0���$�� %����8� ;��.��� % ��0! (�� � # ;�2%�$.-� �(�'�& # 3��0�4#- � �� �� 4#.< #2,
0� � #. 4� ��� '� '���� � ;����1#��$��! ��� # '� '���� � ;��#2%��#��$��� ��'��; �'�&
# 3��0�4## � ;�%��� ## 4� � % 1���?�0! ��� 3� �4## %��0� #! %� 0 �8�0 �1�.' .��
'��;� & �/#%$� #. '��$��  � �� ��! �! '$���%���$& �! ;�2%�$.�� #2�(��& ;�#(# � %�2 #�,
 �%� #. # 3$.4#�  �< ;��4�''�%�

��0��#0! (�� ' ��� �0#(�'��� ��(�# 2�� #. ;�%��� #� �8� ��% % �8�%���  �< �'$�%#,
.< 0���$�� %����8� ;��.��� '�?�'�%�  � ��2 ��1��2 ��! (�0 % 0���$.< ;��%�8� ;��.����

 #0�  �! �1$��� #� # 3��0�4#�� �8� ��0# �� �� %$�(��! % (�'� �'�#! �'#$� #� 1��&1�
;����8� #'��%! ;�#(�0 % ��  �0 '$�(�� ;����%4� # ;���;���$# ;�,��2 �0� ���8#��-�  �
�'0�'$� #� ����� # 3��0�4##� �$. ;�'���� #. 0���0��#(�'��� 0���$# '� %����� ;��#2,
%�� ��  ��1<��#0 �(�� ��;�$ #��$& �< ��� �0#(�'�#< '#$! ����/�-?#< 2 � #� �1 �%�$-,
4## 4� � � ;���$�8��0�< 0���$.< %����8� ;��.��� 2� �' �%� 0���$#��%� #. ��� �0#(�'���
'#'��0� ;�$�/� 0���� �# �0#(�'�#< � �$�8#�� ���'& ���� � �$�8 1�2#����'.  � %����0
2��� � �&-�� �! � % ��(�'�%� ����8��## �0��� �%#/� #.� #';�$&2���'. %�$#(# � (qj ṗj)! ��,
����.  �2%� � ��$#(�'�%�0 �%#/� #. j,8� ��%��� �9�� ��2�$&��� 0���$#��%� #. ;���'��%$� 
% %#�� '#'��0� n �1�� �%�  �< �#33��� 4#�$& �< ���% � #�! �;#'�%�-?�� ;�%��� #�
%������ �� �( �< 4� # ���%$��%��.-?�� �.�� 2���  �< ;���;�$�/� #�,8#;���2 �� �'#,
��$& � ��� �0#(�'�#< %2�#0��� ��� #� ;��� ���% ;� �� ��� ����$& #0��� %#��

d
dt(qj ṗj) = −q0jdj0(pj − p0

j) + q0jDj1ṗj − q0j vj0(pj − p0
j)− q0jVj1ṗj −

−q0j
n∑
i=1

cji((pj − p0
j)− (pi − p0

i ))− q0j
n∑
i=1

kji(ṗj − ṗi) + rj(qjpj − q0jp
0
j ), j = 1, n,

8�� qj = qj(p1, p2, ..., pn) ~ 3� �4## �1��0�% ;����/! dj0, vj0 # rj ~ ���33#4#� �� ��� �,
0#(�'�#< '#$ '���%��'�%�  � ;���;���$��! ;����%4�% # 8�'����'�%�! Dj1 # Vj1 ~ ���33#,
4#� �� '#$ �� �� 4#� #20� � #. 4� '���%��'�%�  � ;���;���$�� # ;����%4�%! cji # kji ~
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���33#4#� �� '#$ �� ���� 4## '���%��'�%�  � ;�# ��'��'�%## # 3��0�4## �1 #20� � ##
4� # ;�#  �$#(## ����� # 3��0�4##�

�$. ��  �� �# �0#(�'��� 0���$# ;�$�(� � �'$�%#. �'#0;���#(�'��� �'���(#%�'�#
��% �%�'#. pj = p0

j , j = 1, n, % ;���;�$�/� ## ��% �;��% �'�# �� ���� ��% # ;���'��%$� �
��� �0#(�'��. # ���;����4#. ��#< �'$�%#��
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��''0���#0 '#'��0� �#33��� 4#�$& �,��2 �'� �< ���% � #�{
ẋ(t) = A0x(t) +A1x(t− h) + bu(t), t ≥ 0,
x(t) = ϕ(t), t ∈ [−h, 0], ϕ(·) ∈ C([−h, 0],Rn).

(1)

���'& x ~ n,%�����! u ~ '��$.� �� �;��%$� #�! A0, A1 6 ;�'��.  �� n × n,0���#4�! b ~
;�'��.  �� n,%�����! h > 0 ~ 2�;�2��%� #�! ϕ(·) ~  �;����% �.  �(�$& �. 3� �4#.�
�1�2 �(#0 En ~ ��# #( �- 0���#4� ;��.��� n! C ~ 0 �/�'�%� ��0;$��' �< (#'�$ #
d(p) = det[pEn − A0 − A1e

−ph] ~ <�������#'�#(�'�#� �%�2#;�$# �0 '#'��0� A9B� ��1��
��� �� pi ∈ C, i = 1, 2, . . . , ���% � #. d(p) = 0  �2�%�0 ';�����0 '#'��0� A9B�

S�'�& m,k 6  ��������  �����$& �� (#'$�� ��0� �0 '#'��0� ��8�$.����0 Ay ∈ RkB⎧⎪⎪⎪⎨⎪⎪⎪⎩
u(t) =

m∑
i=0

(Gix(t− ih) +
ih∫
0

Li(s)x(t− s)ds+Diy(t− ih)),

ẏ(t) =
m∑
i=0

(Fix(t− ih) +
ih∫
0

Ki(s)x(t− s)ds+Hiy(t− ih)),
(2)

8�� Gi,Di, Fi,Hi(i = 1,m) ~ ;�'��.  �� 0���#4�! Ki(·), Li(·) (i = 1,m) ~ �%�2#;�$# �0#,
�$& �� 0���#4� ;��<��.?#< ��20���%� � ��2�$&���� ;�$�(#0 2�0� ���- '#'��0� A9′B⎧⎪⎪⎪⎨⎪⎪⎪⎩

ẋ(t) =
m∑
i=0

((Ai + bGi)x(t− ih) + b
ih∫
0

Li(s)x(t− s)ds+ bDiy(t− ih)),

ẏ(t) =
m∑
i=0

(Fix(t− ih) +
ih∫
0

Ki(s)x(t− s)ds+Hiy(t− ih)).
(1′)

1(����*���� �� �#'��0� A9B ';�����$& � ;�#%��#0�! �'$#  �����'. ��8�$.��� A5B ��,
���! (�� 2�0� ���. '#'��0� A9′B #0��� �� �( �� ';�����

�(#���0 %�;�$ �  �0 �$. '#'��0� A9B ';�����$& �� ��#���#� ;�$ �� �;��%$.�0�'�#
~  ��1<��#0�� �'$�%#� '�?�'�%�%� #. ��8�$.���� %���/�� #. �9�

rank[pEn −A0 − e−phA1, b] = n ∀p ∈ C. (3)

��''0���#0 '#'��0� A9B %����8� ;��.��� An = 2B� ��8�$.��� %���/�� #.  ��.�� '
;�$ �� �;��%$.�0�'�&- �1�';�(#%��� ���/� �9� ';�����$& �- ;�#%��#0�'�& '#'��0� A9B�
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